S GIANT

¢

o

M
T/

TSP
R

= —]—
A o
>,

@ 6
|

T

L

®

ONE) ®

® Q00 © @

==

® E=3=<
Step 1
B ®

Recommended Torque
6 N'm
60 kgf-cm

Step 2 @ Spherical Washer

@ T
Q {1 = [Recommended Torque

4.5N'-m
45 kgf-cm

[3 [AWARNING

T

I8 [A cauTIiON

@ Wedge Nut

Recommended Torque

5N'm

50 kgf-cm

Step 4

Recommended Torque

5Nm

50 kgf-cm

Bk

1. HBESEREIR

2 8EE _
3EMEEHETZETEE
4.Z5ERH

5. 5 PRIREFER

1L MBEEEEIE

JEGHHEHEE GIANT CONTACT SL Aero Clip-on » AFMEEEA S B REF
FEEEIE - FAREMAR - SHREATFMNZERBETESE - UFERDEE
ESRENFR - WERIRER ENZE -

AZS]

RO RAES SEENEE . SIRENENSEE - NRRBIEEITR
B B - IESEERAERNEE - BEER - UEEERE - BRas
M ASARIIRREEE -

AFEFE
o TR IWHBIEMER » FEREENBDEICETLE - B2 A HAVEN

o {EMEE: GIANT CONTACT SL Aero Clip-on %358 5T FE ISR ERmEHT — AR E5 3k -

Zik > RKBEBHNDELZE - MELBRIERNGE

B3RAD - AR EWRERSHAERNERDEE - BEETBRNEE -
LIFEREZ = -

2. B

GIANT CONTACT SL Aero Clip-on3 5358 N3 s BE & {8 :
o GIANT CONTACT SLR Aero Integrated handlebar
o GIANT CONTACT SLR Aero handlebar

B

=0
FE70Z5GIANT CONTACT SL Aero Clip-on[REMEEHESF - - CONTACT SL Aero
Clip-on73a% 5HE IR GIANTERSTRIZER DR HIEF - BIFEBRNREEEER
BEMRITATE » MESFERCAERE -

=[S =t i
0) RRIERE 21
® BIEFRA 248
® | 1ommEFRS 61
@ IRELEET) 21
® RRICEIERE 21
® | M6x26mm iZ#k 2{E
@ AEHESR 2@
I 21
©) FHREEH 21
M5x12mmiZik 418
(@) ®3,5T 2@
® FHIZIEE 21
® SEEFE 21
RSHEEETE 4@
@ KEiERER @ SETREMAEH
M6x20mm UEiik 21
M6x30mm UFk 21&
M6x40mm IE#k 21@&
M6x50mm UZiik 21&
M6x60mm UEiik 21
M6x70mm UFk 21&
B 10mmETRHFRYE @ BRIEHRE:
® 10mm FEFEF ® BHEE IZHERE

{FRgE
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm
4. ZRIDH

52 1.0 treiExas @=EFrags - B
1.1 SR - @ mE @MIEIE » LUSERBITE - B4 @ I18HL16 N-mi
2, BEEL @k -
F1: Z28E2(H (D) 10mmEE R B - T o

$% 2.0 BEFRARSEFHES - [
2.1 @HEES] EEDN) EA @ -
2.2 4@ HEHIFIELIA.5 N-mAEERE 7 1L 8 FAF E gy

- @ BIEFEENEENE - BEBLIRENISTESN « KEETERE
HIATE » 5B LB -
« @ EiEFrammEne - [[@

52 3. O reEranraraEeEas €G]
31 @ EHZ6 OKEEEEERE @ AEERES - TKEANIE » 2538
EBNEBEEE o
[QiE: @ FHEEA IS  THHEEURENE o
FEiE: @ FHEES IS  THHEESENE -

3.2 @ EIEEEEBAOKEERE - BAGKEIE » BEEMRRE » M
5N-miEEE7IEEE @MEx26mmiZHk - LIEE@NSIE -

m
FERRRBIRSEENS » BROVIESEES  LEREARE - SRR
BREE -

S8 4. FHNEELEE KeEEEas -0
4.1 EEQ FHEES CHEEEAE > M2 0 Msx12mmigi - 28 @
w3 #e)» DIs Nmis] » 1§ @ FHIEERERERE - EA2ME @ MSx12mm
BHREE @ FHERES » F R B IEEEE -

42 £ FQFHZEE @ KSIBEFE () WTIBEE » BIEMZE -

5. BRREFER

LR R IAEEA A\ 21T H.CONTACT SL Aero Clip-onfg k2 A1 B T 253 ik
Fea PRI o

AREEERRERENRSSERENES - T ERERETEEERETHE
RAEm °

EIRAVERE

IRIEZERE » E OUREDBSHREFRT T - E—HREERRERDEE
ToHIE - HERTEHHUSFENESEEBNSHETER - MREEERIE

B EBEARFRREEA » WEHEAEE -

FREFNER

PR B AR AR E - THE T

o IER BRI EIEVRISAVRIET » SHFRVIEREFEEERIS -

o EmIIIFHFEN R AIEHEE THIE -

o fERIAT TEITAVIZCY -

* ARE RE - W/ BRI A ERRETNENMERTER

o ASHGEE - PHE - RN/ L EENIIRNA S ERRERNSERRIFR
BB R N RIEEMAVERERGEAVEE

* ENBRNERARZANER -

FRAREMRHEEMEEMEBENDRENIIEEZN - RLEREREEAIEA
BAEERREURZENERMELNETERANEE (BEETRRERB
FEREMAVHEIBRIRARBAVEAIEE) -
RLRHTMEHEERTSIETNRE - TERTHRE - BERREEMEH
MALERIERE - EEMIFEERR DR RRERIHR ©
HILRENEOREEUWREBRLFRETIREUNIIET - UARHBER
WigslEfhiE SRR & » RERIES ZHEE -
EBEMLNNESCE TRER » TREARSUERMRZENAIRG -
REHREMETREERRRTAME - ARER FEEEWEREN » BRI
OIREEPTEIIME » MEEMIEN SRENEFETREERER -

2%
L7 9 FolA
2.3

28 xYs U 2E 3=
2% £

S5.GIANT Nigt 25

1. 274

GIANTO| 185 255 TYHFMM ZAtefL|ct O] BYME ALBAT}
ME2 GIANT CONTACT SL 0j0j2 S &2 Al~=of a2 M3t SR
FUS I = AL S& ZHChot A UM ALICE M F0| 458 29
28317| I8 TS0l dX| XHn MHA KBS FO| ZH 910 FHAIL.
RE 20| 2AKot 145 og #EOR 0|R0M ooz ZohdRo
metolL B &4 of20f CHSE MR MAo| FastLct £3] SS0/ut
AT7E et Zeols Zget Mol EagLn

AZHD

HUOM T 2oILL STO| YA LE SF0|A B9} CHE X YO|Lt
plojgo| tolel A XMAHE EpA| BIHAR. 0]Z42 K Eo| HAHQl ny
L= S £ Yo RO oYL XA MEH £F HAOILt
DAE 22SHAIL.

i
I
(o]

Ax|: 518 K7} OFF 2 A ol HZFo|o2 MBIt o3t MX|7}
Z23tL|Ct GIANT CONTACT SL Of|0{2 S22 ME& XA FH|
M2t HY 378 08HA Ax/sfof LCk

TEl

* 85:GIANTCONTACTSL 222 NEE Z& 20N Yt FHRo=2
MESEE HAEAS LT

S
s
>
1
Ho
o
o
i
4
|.r|

REAE Ef7| RO 84 OpRL 2Ato] MB 7} Q| Boldtm, ofato] L7
2Eo e Al mASHUAIL.

2.52Hd

GIANT CONTACTSL 0f|0{2 S8R MEE= L2t 22 HS B FE8e=
M2 | S LT

o GIANT CONTACT SLR 0|01 2 K" sHSHt
e GIANT CONTACT SLR 0| 0{ 2 $HEH}

AZdn

SiR CHE S MO MEls}| S+ AXEgon
SIS o= S2tElx| &Lt Of (S 2K % AL HE e £e
S, Aol 9iEo| wHE & gLt

RS =
Er sE 4y
@ OJAHM S 27§
® ¥E o 28z 27}
® 10 mm @ T{E A 0| A 6 7i
@ EEL 27
® e e 2 7§
® M6 x 26 mmE E 2 7Y
@ X HE 2 74
o[ AEM b 27§
©) & IE MZE 2 74
M5 x 12 mm 2E 4 74
(@) 2% 9t 2 7
@ g me 21
® oJAHA bf 13 2|
o/AHIN B B3 40
OQAAHM SUTEQHME H S =L XY= O AIBEE EE
M6 X 20 mm =E 2 74
M6 X 30 mm EE 2 7
M6 X 40 mm ZE 2 7
M6 X 50 mm 2E 2 74
M6 X 60 mm 2E 2 7
M6 X 70 mm EE 2 7
@ 10mm & = ATO|M0 MEE|lE 2E ZO|
10mm ¢ i = ®=E 20| 2E Z0|
20| A &
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm
4. 9X|

1S @UAHMN SUzE@ W 2o zzec E
2E@E 28 ZYse] 1H XS FALCH
I OS2 EE@E6NME X0/ 2E B LTt
m

2cHA.@ME vt 2U=E

2.1 @7 oMol 5

22 HA|E S ot 2
EXo:E N ]}

H [=]
15 F2 HEQ oz BHO|LE A0 0|5 5= AFLICE
* (@3S B SYTmo| F2 BIO| HHZS F3l L E 3of #[0|=£0|
|

s M bt 2ojof =g e ct. (G

o Tj= Amo| Aol DFEL|CH

HIZZS Stz 2 sl@EE o s&LCt
T P LM @ HE H EUZE 45Nme| EAZ

FEMI= BAIE FY Lo DFsHoF gLCh ZRE QX0

I. 3] A
3.1 ®YAHM H 2HEEMex26mm 2ES SHA|7I @YX HER

Cas ZYPLICLTY K& Moshe T A0 dhat F7{Lt

H29lX & MHE = AL

€52 9%: @ & HE MEEQ YIXIE T X0 7H2H ZHE +
B CL

GlEe 9%: @ & e MZEEQ YIXIE T XA UH ZHS
LT

32 ®A~dN ot EHEDYLHN S} XY CHI@O ALHN bt
7L Ct 5 Nme| ESZ BM6x26mm 2EE ROM@YAHM HI S

5
2IX|off DFZ AL

e c

oz
Jlotmo

GIANT= CONTACT SL 0fjoj2 2229| £|% JLOjX7t R Z2S 2l
HREZEE 24 7Y KBS & A de

T o Zast =
2 232 GIANT 34/ C =
SAlof cHe| ™Mo =8t ALo|Bt Mg Lt
Mgkl ol H A

Za| HAZ|X| e ot 47| BT £ SAIH 250 o|AHS
GIANTS| MOl x| et 28 HES S5t
HEO=Z uNste Ho=2 0|
k=X [e]
o o

TONRHOI A 2 & 8 =T
x

47| 85 EE SN
< £2 4 =24 Z3to
o GIANT 34! CH2| =
< 2x wdE NE

o H Y, BF 8/

HES ALt
e ZF FE 02
E= MES
oty A HE
o HE K o

™
0%
2
>
;
>
o
o

hr

£Q 04
rirrlo

=
B
!
e
4
m
m
>
5olo

o

C

H

rir
0x
18]
k]
Tk
ofn
>
o
=}
nx
i
o
H-|
0
fin
i
ofo
H-|
Hu

oX
mot
=
i}
=]
TN

dp
>
_C')_l-
[
34

il

u}

:
oo p
o iy
olO% T oy

>
riot m
=2
ne

2 230| BAED
CH2|™ 2 GIANT HZ2o =z QI
Cl

f(atd = 20|d

ta
rin
R
\J
i
0
[igal 2
i
=
ol

OF ™
Ee S
A

n
2 rir
Hel
0x
[x{o] IO
Hu
re
o
113
0z
r
Hr
>
A
o
N
i
i
1=
]
Tk

0%
=2
2
OF
St
2
o
Ral
Ral
1
- oy
-

>
Z o
=
02
> 0

= L& o|elo| of
A

M= SAY 23E 5| dEL
off | Xgt t

)
xy
SAH 250 7]

o oI
i
o
Jio
o

o
Jox
I
ox
1o
T
%
ot
2
]
i

=

rrogox @ rpH
10
N
r
lo
fu
Rl
rot
I
il
|l

b
ol
=2

5
El
0K

pal

022

o b

oy == o2 de Sl
b7| #off Fof Y+F E= 7|E

) ofy
%

Rl
rin
Ik
2
=3
bl

o
Hr

ol
L
>z Ol

=d

N

lo4> H1
N
<
>

b
o

o ot
29
=
o

2
ot
1o
-4
2
0% Ok o T

ot
I

buirg Sox e
2
=
0z
mo =T
0
-4
met
oy

malk

o
n

-Of

O >
B
fjurjo
N
30
Ry}

M
N
]

Q
>

o
[
Il

Q30| FEALE
H

I
>
o
Hix
N
g
o
oy
i
o

o
i3
riT ikl wo

29T
ot
I~
[l
o
ki
2
Hy

Mo >
oy M
rlo i
rg-ro
(0i]

>
e
4B
)
L2
oa'lr

o
lo

BR

1.1&UsIc

2. H#EICDNT

3R E/IN—Y—E

4D FFFIR

5. MERIRE

1. [FUSHIC

ZOERYvAT7YNORBELBNKROBE. HONESTSVET, ZOY=aT )
[FREFEDGIANT CONTACT SL AeroZ Vv 7 AV IR FAICEET 2 EiTERD
VIR—XYMIDWT KDIBRZRHZDAHDSREBDIEEZBERIUTESNTVLE
T ABBOUEEERARICHKIET Bicdhic. CONYZaFIUICTHI NI F
B, B LOREAEDBEEZNT BFHA<TIEI W,

JVRIY =M BLOBERESSH SHZ AV R—X Y FOERICBRLT H—R
YOBERBEYrEHORIHERIF. AVR—X Y NOBIBICLZEREHfHlcH
FEICEETT, HUHRPER GHAICATONIBA. TO0BGEEF IR
RERBLTIES L,

=Y REICBHPE. EELEBES PN AR R ULSE. ZOB&GEFEOY
R—F 2 MIIERHCRSIRWTLIEE VW INTOBRIEEEDHIBEDORN T, /2
EEICERZ LS. Vv 7Y MNERRTEEIC/C—Y DIREZRBELTLEE W,

« BORF: BEEAEIC, 2UTTBICANSEE SEAIA oIk, 1 R—%
VINEIEEUKEXD T BIEENREL RN E I GIANT CONTACT SL Aero”
Uy TA Ly N, TODBEERELOF T G TR HiT 2L TRRE
BOTHDNANEEETT,

o ZERODEEARE: GIANT CONTACT SL AeroZ w7 AVty M fizEah
1e3% TR B BICREENTNET,

BIED EKEEDOITEDRILNDOMEH T IEHEDRRAICARD F T, F o, RS
NIZRKFEDN S NLIEBZZE TIRT VY 3 VIIN—P/\> RILIN—ITIBENF
EURIEDE & 72D GRERT AP EIC DA BN B DT,

AFEE|

HIREICRED ICRDEIIC. ARBOIVR—RY MCBRPERDIEN RN E
EREBLTREENBLZO&S BILENBIIL, ZOHBEEF I R—F T
(XTI E’SBRVNTLEE L,

2. I OWT

GIANT CONTACT SL Aero?JwZ7 A >ty ME LI D/ RILIN—(TEXD F1F
TEBLSICHRETENTNET,

e GIANT CONTACT SLR Aero Integrated/\> RJL/\—

® GIANT CONTACT SLR Aero/\> RJL/\—

FEO—BITAVWA\Y RIL—IZIE GIANT CONTACT SL AeroZ Uy 74> YA
TLZEMESICE D IF7RWTL<EE W, CONTACT SL AeroZ Uy T AV RT
& ERONYRIN—DIT7OFRE—HT D LSFRICERET SN TR D ZDMD
I\YRILN=ITIFIEELGEG UEBA AT A RFAVICZ<HOBRVNIAVR—R Y D
O RHFICED TVR—%> NOES LORART AP TIC BN B BN S
D&Y,

3. MREEIN—Y—EIN

1BEH IN—Y % =
@ IORFYyavIsv7 21
® INYRIVIN—=DZ2T 2{&
® 10mm7—L/ ¢y RAR—H — 61
@ R7vr— 21&
® IURF VY IVIN—IRILT— 2f8
® M6x26mmiRJL 218
@ HrvIFvh 218
IIRTVYavIN— 2@
[©) 7—I %y RYR—h 21d
M5x12mmiR)L 4{E
@) 2RIy — 2@
® S INIDIS 21&
[B) IORTYYavN—=T Uy 21&
IORFIYavIN—T5T 48]
DIVRTYYavISvTEQNYRILN=0 5V TOBRIERILN—E&:
M6x20mmiRJL 21&
M6x30mmiRJL 21&
M6x40mmiRJL & 2@
M6x50mm7RJL 218
M6x60mmiRJL ~ 218
M6x70mmiRJL 2@
@ 10mm7—L/Cy RAR—Y—E RILNESDEAEDE—B:
®10mm7Z—L/ty R ® RIVMEE ® RILhRE
AR—Y—DERKE
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm

4. IO FFFIE
2FvT1:@ IIRFYYavISy7E ® NYRILN—75y T BaITET, [
11 2T @ RILhE @ RILNERDESICREBHUET RIC@ RILRE
BN-m T AREDLEE) RILNEIRDALET,
Bl:@10mm7—L/Cy RANR—H —%2DBEAT ZI5E. MO LS ICHEMIL
%9

ZFYT2: @ NV RILN—552TEN\Y RILIN—ICRIF I LET, (1]
21 RILRD EIC @R7YYv—% K% LAZICLTANET,
22 )\YRJLN\—=ICRRENIZVTTIUTFRINE>TWBZEXFER L.
® \YRILN—95 T4 ENMTHED T ES,

AEE

e @Q/N\YRILN=IZVTE BTRRSNICTY PRICEE LTS VKRR
ENETUTEANTIO R IFT5E, AVR—R Y NORIBR L OSELR Y
HOREIC RN ZBNHLBDET, E |

o T—TII—F 4 VT ERAL—RICT B8, @ N RILIN—5I52TD
A—THMAERL LSRRI TTEW, [@

27V T3QIIRTYavIN—tIT—2DIIRTYavI7 7 ICBmO it
GEXNGIH]

31 IIRTYYaVN—RILT—Ic@®MEX26mmikILhEBL.D Uy
FYRTRBOLES, ®TVRT Yy avN\—RY— % RETBIET 7
BHDSA T4V TRI Y IVICIHUlcFO—E D1 RO2DDIDFF (I B%E
RTEZXT,

[@Qro0—Ryyay:@7—L/Cy RYR—OEARBIIRL . KD Fi%
BoleSATU VI RI YV ICRETERT,

El 7+ RRY Y32 @7 —LJ/y R R— O EAREBAAL . KD EERV
ATV TR VICHABTEET,

32 ®TVRFYYavN—IY—EDITIRTFYY 3205 TEBHTIT®
TORFYyavNN—%BALET.® TVRAT VY avN\—2RERMEICH
L. @M6x26mmZ5N-m T T E T,

o
BAGOR MBI N ORONFFTIR TS 2> — IR E
53 RS RO BH BB ET,

27974 @ FP—LIVyRYR—bE GLIRFTYYavIN—FRILT—ICERD ¢
FEXN
41Q@ 7—L/Cy RYR—k FEOBHET 2220708 2480 (OM5x12mm
RILRED 2Ry v —ZER LT EN-mTHED T E T,
@7 — LIy RYR— N ERERICEET Blcoic, @ MExT2mmiR)L k& d72
AERLET,

42 @ F—LIVYR @ TVRTFYYaVN—T Uy I @ TV RATFYavIN—TF
JERDMIFET,

5. mERIRE

KRRASHIv ATV MATIv A7 M) F BBV EFTEEXU/CONTACT SL
AeroV Vw7 Az B SAFICE S OB E OFERRE T SIS LB U IIMRHCE
HTBTREEGNRID XL EF AFADTHARICKDEEEE (RIHEEE L\
F£9) %, Vv 7Y MERIRGE THROBEREEBAVWCLEWEBERICOH. BB
ABDS2F B R LET,

REIENA:

ARINTVWSHEZRE. CESICRHINTWRWETORIENAIF. AEEDH
2/ =YD FNERENZNL EDMENHDET v 7Y MHHEBICHIRTT S
IR—YNDRIEDIHC RS TV EE T ARIIIBABL DRI FEW L
FWEWeBBERAANCOHFBRAZIN. BET D LFTEEE A,

RIETEHBWEIR
 BEOERICEVWTBRICEUERBLUSL

e BASNIY v A7V NERRFEUNTDER

o W B BLUOTEEBRBEZSNIIES

o B FIl3ENICEEY BB BAICHERTI N TLbD
e HROFREDMA EIF EE8. RRABEICEUIBE P
* =Y DIBICH B ER

KRIAETHRENTVDED BLOINTOEIMNBRRIECE D HDERE, Vv
7YhEZDRES BELCIRTEEE (BROKCIBIRENBER NI PTET
IELBBEZEE) WDV v 7Y NIRRT 555D BIBRPIBERICT U,
ZOEEZERSIERHDFEAO

v ATV MITITHRE U, KA U TWRWMREEUADAT Z RIEE LT
I3 FHDE A RRMEPHEDENICN I 2BEAEICEIZEMEE0. C
ZICHARENTWRNWETORIER. XL ORIEDIHERICDOHMERENDEHDER
ESD

RIZERT25A BARBOL Y — R ZOMOBABZRT 26 DZ T RR
DEBEWNWEFWRELLI v+ 7> MERIRSEIE ICBR U T <IEE,
KARELZAAERTHBA SN RREERT BB ICERSNI I B THBASN
CRRORILFEEERDBMOFRERITHEENHDET,
RAEABBLVFMIIECEICERZHEN B D XY CORIAIIBERICKHEDE
HHENZ5X5HDTY,

INSOERIZ BEBICLDRIBDIZEAEDH DT T, CORIEEHRRIDERIETRIC
HEEE5Z5ERBBDEE .

SPIS TRESCI

1.Wprowadzenie i $rodki ostroznos$ci
2.Kompatybilno$é

3.Schemat montazowy i lista czgsci
4.Procedura instalacji
5.0graniczona gwarancja GIANT

1. WPROWADZENIE | SRODKI OSTROZNOSCI

Dzigkujemy za zakupienie tego wysokiej jakosci komponentu Giant, naszym celem
jest wspomaganie jazdy uzytkownika, a ta broszura stuzy jako instrukcja szybkiego

uruchomienia , pomocna w poznaniu nowego systemu podporek tokci GIANT
CONTACT SL Aero Clip-on. Aby w petni wykorzysta¢ jako$é tego produktu, nalezy
przeczyta¢ nastepujace instrukcje instalacji i serwisu.

Poniewaz wszystkie czgsci sq wykonane z kompozytu i wysokiej jakosci stopu,
wazna jest profesjonalna inspekcja pod katem peknietych widkien i uszkodzen
powierzchni. Jest to szczegolnie istotne po wypadku lub kolizji.

| AOSTRZEZENIE|

Nie nalezy jezdzi¢ rowerem po wykryciu peknigcia lub skazy na powierzchni
czesci, albo po wystgpieniu nienormalnych luzéw albo uginania sig¢ czesci. Jest
to znak zmeczenia i potencjalnej awarii. Cze$¢ powinna zosta¢ sprawdzona i
wymieniona w profesjonalnym sklepie rowerowym.

| APRZESTROGA |

 Instalacja: Uzywanie lekkich materiatow z bardzo niewielka tolerancja,
wymaga profesjonalnej instalacji. Zestaw GIANT CONTACT SL Aero Clip-on
powinien zostaé zainstalowany przez profesjonalnego mechanika z
odpowiednimi narzedziami.

* Przeznaczenie: Zestaw GIANT CONTACT SL Aero Clip-on jest przeznaczony
do normalnej jazdy po drogach utwardzonych.

| AOSTRZEZENIE|

Niedokrecenie z zastosowaniem okreslonych wartosci momentu obrotowego,
moze spowodowac niespodziewane przesuniecie lub uszkodzenie czesci.
Przekroczenie zalecanych wartosci momentu obrotowego, moze spowodowaé
uszkodzenie przedtuzki lub kierownicy, a w rezultacie utrate gwarancii i/lub
spowodowaé powazne obrazenia lub $mieré.

[APRZESTROGA|

Wazne jest, aby przed kazdg jazdg wymienione komponenty sprawdzi¢ pod
katem zuzycia lub peknigé i wymieni¢ wszelkie czgséci wykazujace takie oznaki.

2.ZGODNOSC

Zestaw GIANT CONTACT SL Aero Clip-on jest przeznaczony do nastepujacych
kierownic:

* Zintegrowana kierownica GIANT CONTACT SLR Aero
o Kierownica GIANT CONTACT SLR Aero

/\OSTRZEZENIE

NIE nalezy instalowa¢ systemu GIANT CONTACT SL Aero Clip-on na innej
kierownicy, nie wymienionej powyzej. System CONTACT SL Aero Clip-on zostat
specjalnie zaprojektowany w celu dopasowania do przekroju poprzecznego
wymienionych wyzej kierownic i nie bedzie prawidtowo pasowat do innych
kierownic. Uzywanie niezgodne z tg instrukcja, moze spowodowac¢ awarie
produktu i mozliwe obrazenia lub $mier¢.

3. SCHEMAT MONTAZOWY I LISTA CZESCI [

Element Czesci llosé
[©) Zacisk przedtuzki 2 szt.
® Zacisk kierownicy 2 zestawy
@ 10mm podktadka dystansowa podporki tokcia 6 szt.
@ Podktadka kulista 2 szt.
® Uchwyt przedtuzki 2 szt.
® Sruba 6x26mm 2 szt.
@) Nakretka klinowa 2 szt.
Przedtuzka 2 szt.
@ Wspornik podp6rki tokcia 2 szt
Sruba M5x12mm 4 szt
(@) Podktadka na dwa otwory 2 szt.
® Podporka tokcia 2 szt.
® Uchwyt przedtuzki 2 szt.
Zas$lepka przedtuzki 4 szt.

Sruby do montazu (1) zacisku przedtuzki z @) zaciskiem kierownicy.
Sruba M6x20mm 2 szt.
Sruba M6x30mm 2 szt.
Sruba M6x40mm 2 szt.
Sruba M6x50mm 2 szt.
Sruba M6x60mm 2 szt.
Sruba M6x70mm 2 szt.

Dtugosci $rub z (3) 10mm podktadka dystansowg podporki fokcia:

lloé¢ zastosowanych (3) (® Diugosé Dtugo$¢
10mm pdktadek Sruby Sruby
dystansowych podporki
tokcia
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm
4. INSTALACJA

Krok 1. Montaz @ Zacisku przedtuzki i Zacisku kierownicy. B
1.1 Naijpierw, luzno zatoz sruby ® i ®B), aby ustabilizowaé pozycie
mocowania. Nastgpnie, dokre¢ srube () momentem 6 N-m, po czym
odkreé $rube @) .
Przyktad: Zmontowany zacisk z dwoma (3) 10mm podktadkami
dystansowymi podpérki tokcia.
Krok 2. Montaz (2) Zacisku kierownicy na kierownicy. D]
2.1 Zatéz @ Podktadke kulista, strong kulistg na zewnatrz, na srube
2.2 Dokre¢ (2) Zacisk kierownicy we wskazanym miejscu zacisku
kierownicy, momentem obrotowym 4,5 N-m.

/A OSTRZEZENIE

o @ Zacisk kierownicy nalezy zamocowa¢ we wskazanym miejscu.
Niezastosowanie sig¢ do tego zalecenia, moze spowodowa¢ awarie
produktu, a w rezultacie obrazenia ciata lub $mier¢

o Zakrzywiona cze$¢ (2) Zacisku kierownicy powinna by¢ skierowana na
zewnatrz, aby umozliwi¢ swobodne przechodzenie linki. E

Krok 3. Montaz(?)Zacisku przediuzki na()Uchwycie przedtuzki (€1 [E]

3.1 Przetoz (6) Srube M6x26mm przez (8) Uchwyt przedtuzki i luzno przykreé

do @ Nakretki klinowej.Mozliwe sg dwie pozycje montazu, waska i
szeroka, w zaleznoéci od preferowanej pozycji jazdy.

[€YPozycja waska: Pozycije (@) Wspornika podpérki tokci mozna
wyregulowac, aby uzyska¢ wezszg pozycje tokci.
[E1Pozycja szeroka: Pozycje (® Wspornika podpérki tokci mozna
wyregulowac, aby uzyska¢ szerszg pozycje tokci.
3.2 qucz@Uchwyt przedtuzki z(DZaciskiem przedtuzki, a nastgpnie

witbzPrzedtuzke. Dokreé Przedtuzke momentem obrotowym 5 N-m
uzywajac $ruby (€) M6x26mm.

[ APRZESTROGA |}

Przekroczenie zalecanej maksymalnej wartosci momentu obrotowego, moze

spowodowac uszkodzenie struktury przedtuzki, szczegblnie widkna
weglowego, a w rezultacie moze spowodowaé powazne obrazenia.

Schritt 4. Montaz (9) Wspornika podp6rki fokcia na (5) Uchwycie przedtuzki.
4.1 Wybierz dwa sgsiednie otwory na @Wsporniku podporki tokcia, a nastepnie

uzyj dwoch {0 Srub M5x12mm i dwoch (1) Podktadek na dwa otwory, aby
zamocowaé momentem obrotowym 5 N-m.

| APRZESTROGA |

Nalezy uzyé dwoch(@ Srub M5x12mm do zamocowania(@) Wspornika
podporki tokcia, aby zapewni¢ odpowiednie podparcie i stabilnos¢.

4.2 Instalacja (2 Podporki tokcia, (@ Uchwytu przedtuzki, i (4) Zaslepki przedtuzki.

5. OGRANICZONA GWARANCJA GIANT

Firma GIANT gwarantuje, ze podpérki tokci CONTACT SL Aero Clip-on beda wolne od
wad materiatowych i/lub defektow wytwarzania przez dwa (2) lata, od daty zakupu,
wytgcznie przez oryginalnego nabywce.

WYMAGANY MONTAZ PO ZAKUPIE
Ta gwarancja ma zastosowanie do produktu wytgcznie po zakupie nowego produktu od
autoryzowanego dostawcy GIANT i montazu przez dostawce przy zakupie.

Ograniczone zado$cuczynienie:

Jesli nie zostanie to okreslone inaczej, jedyne zado$¢uczynienie na podstawie

wymienionej powyzej gwarancji lub dowolnej dorozumianej gwaranciji, jest ograniczone

do naprawy lub wymiany uszkodzonych produktéw na produkty o rownej lub wigkszej

wartosci, wedtug wytacznej decyzji GIANT. Ta obowigzujgca od daty zakupu gwarancja,

stosuje sie tylko do oryginalnego nabywcy i nie mozna jej przenosic.

Wymieniona powyzej gwarancja lub wszelkie gwarancje dorozumiane,

NIE obejmuija:

o Normalnego zuzycia czeéci, w sytuacjach, gdy nie wystapity wady montazu lub wady
materiatowe.

o Produktu, ktory nie byt zamontowany, naprawiony przez autoryzowanego dostawce GIANT.

o Modyfikacji od stanu oryginalnego.
Uzywania tego produktu do niewtasciwych celow, wspotzawodnictwa i/lub dziatan
komercyjnych lub do celéw innych niz te, do ktérych ten produkt zostat przeznaczony.

* Powtok malarskich, wykonczenia i uszkodzenia naklejek, spowodowanego braniem udziatu
w zawodach, skokach, jezdzie typu downhill i/lub treningu do takich aktywnoéci lub zdarzen
lub bedacych wynikiem narazania produktu lub uzywania produktu w trudnych warunkach

lub klimatach.
o Kosztow robocizny za wymiane czesci lub

wymiane systemu na nowy.
Poza sytuacjami okreslonymi przez tg gwarancje i objetymi dodatkowymi gwarancjami,
GIANT i pracownicy oraz przedstawiciele tej firmy, nie odpowiadajg za jakiekolwiek straty
lub szkody (wtgcznie z przypadkowymi i wynikowymi stratami lub szkodami,

spowodowanymi zaniedbaniem lub dziataniem umysinym) powstate w wyniku uzytkowania

lub dotyczgce dowolnego produktu GIANT.

GIANT nie udziela zadnych innych gwarancji, wyrazonych lub dorozumianych. Wszelkie
dorozumiane gwarancje, wigcznie z gwarancja przydatnosci handlowej i dopasowania do
okreslonego celu, sg ograniczone do czasu obowigzywania wymienionych powyzej
wyrazonych gwaranciji.

Wszelkie roszczenia w ramach tej gwarancji nalezy zgtasza¢ do autoryzowanego dostawcy

lub dystrybutora GIANT. Przed rozpoczgciem rozpatrywania roszczenia nalezy dostarczy¢
rachunek lub inny dowéd nabycia z datg zakupu.

Roszczenia ztozone poza krajem nabycia, moga podlega¢ optatom i dodatkowym

ograniczeniom.Czas trwania i szczegoty gwarancji zalezg od kraju. Ta gwarancja zapewnia

okreslone prawa, a uzytkownikowi moga przystugiwac takze inne prawa, ktére zalezg od
kraju. GWARANCJA TA NIE OGRANICZA UPRAWNIEN WYNIKAJACYCH Z
OBOWIAZUJACYCH PRZEPISOW.

INHOUDSOPGAVE

1.Inleiding & Voorzorgsmaatregelen
2.Compatibiliteit

3.Exploded view en onderdelenlijst
4.Installatieprocedure

5.GIANT beperkte garantie

1. INLEIDING & VOORZORGSMAATREGELEN

Hartelijk dank voor uw aanschaf van dit geavanceerde GIANT-component. Wij
hebben als doel u te helpen laten genieten van de fietstocht en deze brochure is
als beknopte handleiding bedoeld, om u te helpen bekend te raken met uw nieuwe
GIANT CONTACT SL Aero Clip-on systeem. Om volledig van de prestaties van dit
product te genieten, dient u de volgende installatie- en onderhoudsinstructies
nauwkeurig te lezen.Met alle composite en geavanceerde aluminium onderdelen,
is het belangrijk dat er een professionele inspectie wordt uitgevoerd voor gebroken
vezels en schade aan het oppervlak. Dit is vooral belangrijk in geval van een crash
of ongeluk.

[A WAARSCHUWING]|

Rijd niet op uw fiets als in het oppervlak van het onderdeel een barst of
onvolkomenheden toont of als het onderdeel ongewone beweging of vervormingen
vertoont. Dit is een teken van materiaalmoeheid en potentieel falen. Laat een
professionele fietsenmaker het onderdeel inspecteren en vervangen.

[ ALET OP|

¢ Installatie: Het gebruik van lichtgewicht materialen met zeer nauwe
tolerantiemarges vereist professionele installatie. De GIANT CONTACT SL Aero
Clip-on set moet met de juiste gereedschappen door een professionele
fietsmonteur worden geinstalleerd.

* Bedoeld gebruik: De GIANT CONTACT SL Aero Clip-on set is ontworpen
voor gebruik op een verharde weg, voor normaal fietsen.

[ A WAARSCHUWING|

Door het niet op de aangegeven aanhaalmoment vast zetten, kan onverwachte
speling of schade aan het onderdeel resulteren. Door de aanbevolen maximale
aanhaalmoment te overschrijden kan het verlengstuk of het stuur beschadigen.
Hierdoor kan de garantie komen te vervallen en/of kan dit resulteren in ernstig of
fataal letsel.

ALET OP

Het is belangrijk dat deze componenten voor elke rit worden geinspecteerd op
enige aanwijzingen van slijtage of barsten en dat elk onderdeel dat dergelijke
verschijnselen toont, wordt vervangen.

2. COMPATIBILITEIT

De GIANT CONTACT SL Aero Clip-on set is ontworpen voor de volgende sturen:
¢ De geintegreerde GIANT CONTACT SLR Aero stuur/stuurpen combinatie
e GIANT CONTACT SLR Aero stuur

[A WAARSCHUWING|

NIET het GIANT CONTACT SL Aero Clip-on-systeem op een stuur installeren die
niet in de lijst hierboven wordt genoemd. Het CONTACT SL Aero
Clip-on-systeem werd ontworpen om op specifieke wijze bij het aero-profiel te
passen van de boven genoemde sturen en past niet goed op een ander stuur.
Gebruik buiten deze richtlijn om kan resulteren in falen van het product en
mogelijk ernstig of fataal letsel.

3. EXPLODED VIEW EN ONDERDELENLIJST I}

Artikel Onderdelen Hoeveelheid
@ Klem voor verlengstuk 2 stuks
® Stuurklem 2 stuks
@ 10mm vulstuk voor armlegger 6 stuks
@ Bolvormige sluitring 2 stuks
® Houder verlengstuk 2 stuks
® Bout M6x26 mm 2 stuks
@ Tapse moer 2 stuks
Verlengstuk 2 stuks
©® Ondersteuning van armlegger 2 stuks
Bout M5x12 mm 4 stuks
@ Sluitring met twee gaten 2 stuks
® Armlegger 2 stuks
® Greep verlengstuk 2 stuks
Plug verlengstuk 4 stuks

Bouten voor montage van de @ klem voor verlengstuk met de
@ Stuurklem.
Bout M6x20 mm 2 stuks
Bout M6x30 mm 2 stuks
Bout M6x40 mm 2 stuks
Bout M6x50 mm 2 stuks
Bout M6x60 mm 2 stuks
Bout M6x70 mm 2 stuks
toepassing boutlengte met (3) vulstuk van 10mm voor armlegger:
Hoeveelheid gebruik van (® Lengte bout Lengte bout
(3 10mm vulstukken voor
armlegger

0 20mm 40mm

1 30mm 50mm

2 40mm 60mm

3 50mm 70mm

4. INSTALLATIE
Stap 1. Montage @ klem voor verlengstuk met (B) Stuurklem. B

1.1 Monteer eerst losjes de bouten @ en om de fixatiepostie te
stabiliseren. Zet vervolgens de bout (a) vast op 6 N-m en verwijder dan
de bout (®) .

Voorbeeld: klemmontage getoond met twee @ vulstukken van 10 mm voor
de armlegger.

Stap 2. Monteer (2) Stuurklem aan het stuur. D]

2.1 Plaats de @ Bolvormige sluitring met de ronde zijde uitwaarts, over de bout.

2.2 Zetde @ Stuurklem vast binnen het aangegeven gebied van de stuurklem
op 4,5N-m.

[A WAARSCHUWING|

o @ Stuurklem moet binnen het op het stuur aangegeven gebied worden
vast gemaakt. Door dit niet te doen, kan tot falen van het product leiden
wat in lichamelijk of fataal letsel resulteert.

e De kromming van de (@ Stuurklem moet naar buiten worden gericht om
vloeiende kabelgeleiding mogelijk te maken. [g

Stap 3 . Monteer de (1) Extensieklem aan de (5) Houder van het verlengstuk.[€] []

3.1 Voer de (6) bout van M6x26 mm door de (8) Houder van het verlengstuk
en monteer het losjes met een (7) Tapse moer.
Er zijn twee montageposities, smal en breed. Dit is afhankelijk van uw
voorkeurspositie tijdens het fietsen.
@Smalle positie: @ De positie van de ondersteuning voor de armlegger
kan naar smallere armpositie worden aangepast.

[:]Brede positie: @ De positie van de ondersteuning voor de armlegger
kan naar een wijdere armpositie worden aangepast.

3.2 Monteer de @ Houder van het verlengstuk met de @ klem voor het
verlengstuk en steek dan (8) Verlengstuk in. Zet het Verlengstuk op de
juiste positie met 5 N-m, met gebruik van (§) M6x26mm.

[ALET oP|gm

Door de aanbevolen maximale aanhaalmoment te overschrijden, kan de
structuur van het verlengstuk beschadigen, vooral carbon materiaal, dit
kan in ernstig letsel resulteren.

Stap 4. Monteer de@ Ondersteuning van de armlegger aan de @ Houder van
het verlengstuk. ]
4.1 Kies twee naastliggende gaten op de@ Ondersteuning van de armlegger
en gebruik dan twee (0) bouten op M5x12 mm en @ een sluitring met twee
gaten om het op 5 N-m op de plaats vast te maken.

| ALET oP|

Er moeten twee (10 bouten van M5x12 mm worden vast gemaakt aan de
(9 Ondersteuning van de armlegger om voldoende ondersteuning en
stabiliteit te bieden.

4.2 Installeer de Armlegger, @ Greep van verlengstuk,en Plug van
het verlengstu

5. GIANT BEPERKTE GARANTIE

GIANT garandeert dat de CONTACT SL Aero Clip-on vrij is van enige defecten aan het
materiaal en/of vakmanschap alleen gedurende een periode van twee (2) jaar vanaf de
aankoopdatum door de originele koper.

VEREISTE MONTAGE BIJ AANKOOP
Deze garantie geldt enkel voor dit product indien nieuw aangekocht van een bevoegde
GIANT-dealer en gemonteerd door die dealer op het moment van aankoop.

Beperkte remedie:

Tenzij anderzijds vermeld, is de enige remedie in het kader van de bovenstaande garantie, of
iedere impliciete garantie, beperkt tot de vervanging van defecte producten met producten van
gelijke of hogere waarde, naar goeddunken van GIANT. Deze garantie geldt vanaf de
aankoopdatum, is enkel van toepassing op de oorspronkelijke aankoper en ze is niet
overdraagbaar.

De bovenstaande garantie, of iedere impliciete garantie biedt GEEN
dekking voor:

o Normale slijtage van onderdelen in situaties waar er geen montage- of materiéle defecten zijn.

® Product niet door een door GIANT erkende dealer gemonteerd, gerepareerd.

e wijzigingen aan de oorspronkelijke conditie;

e gebruik van dit product voor abnormale, wedstrijd en/of commerciéle activiteiten of voor andere
doeleinden dan waarvoor dit product werd ontworpen;

® verf-, coating- en stickerschade als resultaat van deelname aan wedstrijden, springen,
Downhill fietsen en/of training voor dergelijke activiteiten of evenementen of als resultaat van
de blootstelling van het product aan, of gebruik van het product in, extreme condities of
klimaten;

e arbeidskosten voor vervanging of wisseling van onderdelen.

Behalve wat wordt voorzien door deze garantie en onderhevig aan alle bijkomende garanties
zijn GIANT en haar werknemers en agenten niet aansprakelijk voor eventueel verlies of
schade van welke aard dan ook (inclusief incidentele en gevolgschade of schade veroorzaakt
door nalatigheid of wanprestatie) als resultaat van of met betrekking tot een GIANT-product.

GIANT biedt geen andere garanties, expliciet of impliciet. Alle impliciete garanties, inclusief de
garanties van verhandelbaarheid en geschiktheid voor een specifiek doeleinde, zijn beperkt tot
de tijdsduur vermeld in de bovenstaande expliciete garanties.ledere claim in het kader van
deze garantie moet worden ingediend via een bevoegde GIANT-dealer. De aankoopbon of
ander bewijs van de aankoopdatum is vereist voor een garantieclaim kan worden verwerkt.

Claims die worden ingediend buiten het land van aankoop kunnen onderhevig zijn aan
tarieven en bijkomende beperkingen.Garantieduur en details kunnen variéren naargelang het
land. Deze garantie biedt u specifieke wettelijke rechten en u kunt ook andere rechten hebben
die variéren al naargelang van uw locatie.

DEZE GARANTIE WIJZIGT UW WETTELIJKE RECHTEN OP GEEN ENKELE WIJZE.



S GIANT

®

¢

o

@&5@6’
L)

T

e s
R
L

\@ E=3E=3

Recommended Torque

6 N'm
60 kgf-cm
Step 2 é@ Spherical Washer
D il
1= [Recommended Torque
4.5N'm

45 kgf-cm

3 [AWARNING [F|

Step 3

@ ﬂ/(® M6x26mm [:] ﬁ@ M6x26mm
O a_

I8 [A cauTIiON

@ Wedge Nut ™~ @ Wedge Nut

Recommended Torque

Step 4 Recommended Torque
5N'm
50 kgf-cm

TABLE OF CONTENTS

1.Introduction & Precaution
2.Compatibility

3.Exploded Diagram and Parts List
4.Installation Procedure

5.GIANT Limited Warranty

1. INTRODUCTION & PRECAUTION

Thank you for buying this high performance GIANT component, our goal is to
help you enjoy the ride and this booklet is intended as a quick-start guide to help
familiarize you with your new GIANT CONTACT SL Aero Clip-on system. To fully
benefit from the performance of the product, please read the following installation
and service instruction closely.

As with all composite and high-performance alloy parts, professional inspection
for broken fibers and surface damage is important. This is particularly true in the
event of a crash or accident.

A WARNING

Do not ride your bike if a crack or blemish in the surface of the part is found, or if
there is unusual movement or flex to the part. This is a sign of fatigue and
potential failure. Have the part inspected and replaced by a professional bicycle
shop.

A CAUTION

« Installation: The use of lightweight materials with very close tolerance
allowances requires professional installation. GIANT CONTACT SL Aero
Clip-on set should be installed by a professional bicycle mechanic with the
proper tools.

¢ Intended Usage: GIANT CONTACT SL Aero Clip-on set is designed to be
used for paved road, normal riding.

A WARNING

Failure to tighten to specified torque values could result in unexpected
movement, or damage, to the part,. Exceeding the recommended maximum
torque value could damage the extension bar or the handlebar which could void
the warranty and/or may result in severe injury or death.

It is important to inspect these components for any indications of wear or cracking
before each ride, and replace any part showing such indicators.

2. COMPATIBILITY

GIANT CONTACT SL Aero Clip-on set is designed for following handlebars:
o GIANT CONTACT SLR Aero Integrated handlebar
o GIANT CONTACT SLR Aero handlebar

/A WARNING

DO NOT install the GIANT CONTACT SL Aero Clip-on set with any handlebar
which is not listed above. The CONTACT SL Aero Clip-on set was designed
specifically to match the aero cross section of the above handlebars and will not
fit properly on any other handlebar. Use outside of this guideline may result in
product failure and possible injury or death.

3. EXPLODED DIAGRAM AND PARTS LIST [\

Item Parts Quantity
(@ | Extension Clamp 2pc
® | Handlebar Clamp 2set
® 10mm Arm Pad Spacer 6pc
@ | Spherical Washer 2pc
® Extension Bar Holder 2pc
® | M6x26mm Bolt 2pc
@ | Wedge Nut 2pc
Extension Bar 2pc
® | Arm Pad Support 2pc
M5x12mm Bolt 4pc
@ | Two Hole Washer 2pc
@ | ArmPad 2pc
@ | Extension Bar Grip 2pc
Extension Bar Plug 4pc
Bolts for assembly of the @ Extension Clamp with @ Handlebar Clamp.
M6x20mm Bolt 2pc
M6x30mm Bolt 2pc
M6x40mm Bolt 2pc
M6x50mm Bolt 2pc
M6x60mm Bolt 2pc
M6x70mm Bolt 2pc
Bolt length application with @ 10mm Arm Pad Spacer:

Amount used of (3)10mm ® Bolt Length Bolt Length
Arm Pad Spacer

0 20mm 40mm

1 30mm 50mm

2 40mm 60mm

3 50mm 70mm

4. INSTALLATION PROCEDURE
Step 1. Assemble ® Extension Clamp with & Handlebar Clamp. [£

1.1 Firstly, loosely assemble the ® and ® bolts to stabilize the fixing
position.Next, tighten the (@) bolt to 6 N-m then remove the (8 bolt.
Example: Clamp assembly shown with two @ 10mm Arm Pad Spacer.

Step 2. Assemble (2) Handlebar Clamp to the Handlebar. [2]
2.1 Put @ Spherical Washer, spherical side outward, over the bolt.

2.2 Tighten the @ Handlebar Clamp within the indicated handlebar clamp
areato 4.5 N'm.

« () Handlebar Clamp must be fixed within the indicated area. Failure to
do so may lead to product failure resulting in bodily injury or death. [

* The curvature of the (2) Handlebar Clamp should face outward to allow
for smooth cable path. [

Step 3. Assemble the (1) Extension Clamp to the (5) Extension Bar Holder. (GIH]

3.1 Pass the (6) M6x26mm bolt through (8) Extension Bar Holder and loosely

assemble with a (?) Wedge Nut.

There are two assembled positions, narrow and wide, depending on your

preferred riding position.

@Narrow Position: @ Arm Pad Support position can be adjusted for
closer arm position.

[Elwide Position: (® Arm Pad Support position can be adjusted for wider
arm position.

3.2 Assemble the @ Extension Bar Holder with the @ Extension Clamp then
insert the Extension Bar. Tighten the Extension Bar in place to 5
N'm using (§) M6x26mm.

A CAUTION | I8

Exceeding the recommended maximum torque value could damage the
structure of extension bar, especially carbon material, and may result in
severe injury.

Step 4. Assemble the (9) Arm Pad Support to the (5) Extension Bar Holder.

4.1 Choose two adjacent holes on the @ Arm Pad Support then use two
M5x12mm bolts and (1) Two Hole Washer to fix it in place to 5 N-m.

A CAUTION

Must use two G0 M5x12mm bolts to fixed the @ Arm Pad Support in order
to provide sufficient support and stability.

4.2 Install the G2 Arm Pad (3 Extension Bar Grip and (@) Extension Bar Plug.

S. GIANT LIMITED WARRANTY

GIANT warrants CONTACT SL Aero Clip-on to be free from defects in materials
and/or workmanship for a period of two (2) years from the date of purchase for
the original owner only.

REQUIRED ASSEMBLY WHEN PURCHASED
This warranty applies only to this product when purchased new from an
Authorized GIANT Dealer and assembled by that dealer at the time of purchase.

LIMITED REMEDY:

Unless otherwise provided, the sole remedy under the above warranty, or any
implied warranty, is limited to the replacement of defective products with those of
equal or greater value at the sole discretion of GIANT. This warranty extends
from the date of purchase, applies only to the original purchaser, and is not
transferable.

THE ABOVE WARRANTY, OR ANY IMPLIED WARRANTY DOES NOT COVER:

* Normal wear and tear on parts in situations where there are no assembly or
material defects.

e Product is not assembled, repaired by GIANT authorized dealer.

o Modifications from the original condition.

o Use of the product for the abnormal, competition and/or commercial activities or
for purposes other than those for which the product was designed.

o Paint finish and decal damage resulting from taking part in competitions, jumping,
downbhill and/or training for such activities or events or as a result of exposing the
product to, or operating the product in severe conditions or climates.

e Labor charges for part replacement or changeover.

Except as is provided by this warranty and subject to all additional warranties,
GIANT and its employees and agents shall not be liable for any loss or damage
whatsoever (including incidental and consequential loss or damage caused by
negligence or default) arising from or concerning any GIANT product.

GIANT makes no other warranties, express or implied. All implied warranties,
including the warranties of merchantability and fitness for a particular purpose
are limited in duration to that of the express warranties stated above.

Any claim against this warranty must be made through an Authorized GIANT
Dealer or distributor. The purchase receipt or other proof of the date of purchase
is required before a warranty claim may be processed.

Claims made outside the country of purchase may be subject to fees and
additional restrictions.

Warranty duration and details may differ by country. This warranty gives you
specific legal rights, and you may also have other rights which may vary from
place to place.

THIS WARRANTY DOES NOT AFFECT YOUR STATUTORY RIGHTS.

iNDICE

1.Introduccién y precauciones
2.Compatibilidad

3.Plano de despiece y lista de piezas
4.Procedimiento de instalacion
5.Garantia limitada de GIANT

1. INTRODUCCION

Gracias por la compra de este componente Giant de alto rendimiento. Nuestro
objetivo es ayudarle a disfrutar de sus trayectos en bicicleta. Este folleto
pretende servir de guia de referencia rapida para ayudarle a familiarizarse con
su nuevo sistema GIANT CONTACT SL Aero Clip-on. Para sacar el maximo
rendimiento del producto, lea detenidamente las siguientes instrucciones de
instalacion y servicio.

Como con todas las piezas de aleacién de alto rendimiento y composite, una
inspeccion profesional para detectar posibles defectos, es fundamental. Esta
rutina es particularmente importante en caso de accidente.

/A ADVERTENCIA

no use la bicicleta si detecta una grieta o imperfeccion en la superficie de la
pieza o si nota un movimiento o flexibilidad inusual de la pieza. Estas sefales
indican fatiga y averia potencial. Inspeccione y sustituya la pieza en un taller de
bicicletas profesional.

[APRECAUCION|

¢ Instalacion: el uso de materiales ligeros con limites de tolerancias muy bajos
requiere una instalacién profesional. Para la instalacion del equipo GIANT
CONTACT SL Aero Clip-on necesitara la ayuda de un mecanico de bicicletas
profesional que cuente con las herramientas adecuadas.

¢ Uso previsto: el equipo GIANT CONTACT SL Aero Clip-on esta disefiado
para uso por carreteras asfaltadas y pedaleo normal.

| A ADVERTENCIA |

no aplicar los valores dinamométricos especificados podria resultar en
movimientos imprevistos o dafos al componente. Superar el valor
dinamomeétrico maximo recomendado podria dafar el acople o el manillar, con el
consecuente riesgo de anulacion de la garantia y/o de lesiones graves o fatales.

| APRECAUCION]|

es importante inspeccionar estos componentes para detectar indicios de
desgaste o grietas antes de cada uso y sustituir cualquier pieza que muestre
estos indicios.

2. COMPATIBILIDAD
El equipo GIANT CONTACT SL Aero Clip-on estéa disefiado para los siguientes
manillares:

o Manillar integrado GIANT CONTACT SLR Aero
o Manillar GIANT CONTACT SLR Aero

A ADVERTENCIA |

NO instale el sistema GIANT CONTACT SL Aero Clip-on en un manillar distinto a
los enumerados anteriormente. El sistema CONTACT SL Aero Clip-on ha sido
especificamente disefiado para acoplarse a la seccion transversal aerodinamica
de los manillares anteriores y no ajustara de forma adecuada en ningln otro
manillar. Un uso distinto al recomendado en esta guia podria afectar al
rendimiento del producto o provocar posibles lesiones o incluso la muerte.

3. PLANO DE DESPIECE Y LISTA DE PIEZAS [\

Elemento Piezas Cantidad
©) Abrazadera del acople 2 piezas
® Abrazadera del manillar 2 juegos
® Espaciador de apoyabrazos de 10 mm 6 piezas
@ Arandela esférica 2 piezas
® Soporte del acople 2 piezas
® Tornillo M6 x 26 mm 2 piezas
@ Tuerca con forma de cufia 2 piezas
Acople 2 piezas
©® Soporte de apoyabrazos 2 piezas
Tornillo M5 x 12 mm 4 piezas
@ Arandela de dos agujeros 2 piezas
@ Apoyabrazos 2 piezas
® Purio del acople 2 piezas
Tapon del acople 4 piezas

Tornillos para el ensamblaje de la @ Abrazadera del acople y la @
Abrazadera del manillar.

Tornillo M6 x 20 mm 2 piezas
Tornillo M6 x 30 mm 2 piezas
Tornillo M6 x 40 mm 2 piezas
Tornillo M6 x 50 mm 2 piezas
Tornillo M6 x 60 mm 2 piezas
Tornillo M6 x 70 mm 2 piezas

Ajuste de longitud del tornillo con el @ Espaciador de apoyabrazos

de 10 mm:
Cantidad utilizada del ® Longitud de Longitud de
(® Espaciador de tornillo tornillo
apoyabrazos de 10 mm
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm
4. INSTALACION

Paso 1. ensamble la (® Abrazadera del acopley la (® Abrazadera del manillar. B}

1.1 En primer lugar atornille suavementelos tornillos@ y B) hasta
estabilizar la posicion de fijacion. aA continuacion apriete el tornillo &)
a 6 N-my quite entonces el tornillo @) .
Example: montaje de la abrazadera con dos @ Espaciadores de
apoyabrazos de 10 mm. [63

Paso 2. monte la (2) Abrazadera del manillar en el manillar. D
2.1 Coloque la (@) Arandela esférica, con el lado esférico hacia afuera, sobre el tornillo
2.2 Apriete la @Abrazadera del manillar dentro del area indicada a 4,5 N-m.

/\ ADVERTENCIA

* la (2) Abrazadera del manillar debe quedar fijada dentro del area
indicada. De lo contrario, el producto podria no funcionar correctamente
con el consecuente riesgo de lesiones personales o fatales.

« Oriente la curvatura de la (2) Abrazadera del manillar hacia afuera para
poder pasar el cable con facilidad. [g]

Paso 3. monte la () Abrazadera del acople en el (5) Soporte del acople. (G]H]

3.1 Pase el tornillo 8) M6 x 26 mm a través del () Soporte del acople y

coloque, sin llegar a apretarla, una @ Tuerca en forma de cufa.

Hay dos posiciones de montaje, una cerrada y otra abierta, en funcién de

su posicion predilecta sobre la bicicleta.

[€]Posicion cerrada: (9 Puede ajustar la posicion del soporte del
apoyabrazos para mantener los brazos mas unidos.

[:]Posicién abierta : @ Puede ajustar la posicion del soporte del
apoyabrazos para mantener los brazos mas separados.

3.2 Monte el ® Soparte del acople en la(D Abrazadera del acople e inserte a
continuacion el Acople. Apriete el (8) Acople a 5 N-m utilizando
tornillos (§) M6 x 26 mm.

|APRECAUCION| [

superar el valor dinamométrico maximo recomendado podria dafiar la
estructura del acople, especialmente el material de carbono, y provocar
lesiones graves.

Paso 4. ensamble el (9) Soporte del apoyabrazos y el (5) Soporte del acople.

4.1 Elija dos agujeros adyacentes del @ Soporte del apoyabrazos y utilice
dos tornillos G0 M5 x 12 mm y la (i1) Arandela de dos agujeros para fijarlo
a su posicion a 5 N-m.

| A PRECAUCION|

Utilice dos tornillos 4@ M5 x 12 mm para fijar la posicion del (@) Soporte
del apoyabrazos y proporcionar un apoyo y estabilidad suficientes.

4.2 Instale el (2 Apoyabrazos, el (@ Pufio del acople y el (4 Tapon del acople.
5. GARANTIA LIMITADA DE GIANT

GIANT garantiza que el equipo CONTACT SL Aero Clip-on se entrega sin
defectos de material ni fabricacion y ofrece exclusivamente al propietario original
una garantia de dos (2) afios desde la fecha de compra.

MONTAJE NECESARIO EN EL MOMENTO DE LA COMPRA

Esta garantia se aplica exclusivamente a este producto adquirido nuevo en un
distribuidor autorizado Giant y montado por el distribuidor en el momento de la
compra.

Cobertura de la garantia:

Excepto que se indique lo contrario, las Unicas acciones a las que da derecho
esta garantia, o cualquier garantia implicita, quedan limitas a la sustitucion de
productos defectuosos por aquellas de igual valor o superior a entera discrecion
de GIANT. Esta garantia se extiende a partir de la fecha de la compra, solo se
aplica al comprador original y no es transferible.

La garantia anterior, o cualquier garantia implicita, NO cubre:

* El desgaste normal y la rotura de piezas en situaciones en las que no haya
defectos de montaje o de los materiales.

¢ Productos no montados o reparados en un establecimiento GIANT autorizado.

« Modificaciones del estado original.

o El uso del producto para actividades anormales, competitivas y/o comerciales
o con fines distintos al uso previsto del producto.

¢ Los dafos en el acabado de la pintura y en las pegatinas provocados por la
participacion en competiciones, saltos, descensos y/o entrenamientos de
dichas actividades o eventos, ni aquellos que resulten de exponer o usar el
producto a condiciones o climas extremos.

e Cargos de mano de obra por sustitucién o cambio de piezas.

Excepto en lo dispuesto en esta garantia y sujeto a todas las garantias
adicionales, GIANT y sus empleados y agentes no seran responsables de
ninguna pérdida o dafio (incluyendo las pérdidas accidentales o derivadas, ni los
danos causados por negligencia o imprudencia) provocados o relacionados con
cualquier producto GIANT.

GIANT no ofrece ninguna otra garantia, ni expresa ni implicita. Todas las
garantias implicitas, incluyendo las garantias de comerciabilidad e idoneidad
para cualquier fin particular limitan su duracion a la indicada en las anteriores
garantias expresas.Cualquier reclamacion contra esta garantia debera
tramitarse a través de un distribuidor autorizado GIANT. Para poder procesar
una reclamacién de garantia necesitara el recibo de compra o cualquier otra
prueba de la fecha de compra.

Las reclamaciones realizadas fuera del pais de compra pueden estar sujetas a
tasas y restricciones adicionales.La duracién y los detalles de la garantia pueden
variar en funcién del pais. Esta garantia le confiere unos derechos legales
especificos y, dependiendo del pais, podra ostentar ademas otros derechos.
ESTA GARANTIA NO AFECTA A SUS DERECHOS LEGALES.

INDHOLDSFORTEGNELSE

1.Indledning & forholdsregler
2.Kompatibilitet

3.Eksploderet tegning og reservedelsliste
4.Monteringsprocedure

5.Begreenset garanti fra GIANT

1. INDLEDNING

Tak for dit keb denne kvalitetskomponent fra Giant. Vores mal er at gere din tur
forngjelig, og dette heaefte er teenkt som en hurtig referencevejledning til, at gore
dig mere bekendt med dit nye GIANT CONTACT SL Aero Klem-pa system. For at
fa det meste ud af dette produkt, bedes du leese folgende instruktioner til
monteringen og serviceringen.

Som med alle sammensatte og legeringsdele, er det vigtigt af fa dem efterset for
brudte fibre og overfladeskader af en professionel. Dette er iszer tilfeeldet, hvis
udstyret har veeret ude for et uheld.

/A\ ADVARSEL

Du ma ikke kere pa din cykel, hvis der er en revne eller bule pa den, eller hvis
en beveeger sig pa unormal vis, eller hvis der er slor i nogle af delene. Dette er
et tegn pa slid, og nogle af delene er muligvis gaet i stykker. Serg for, at fa delen
set efter og eventuelt skiftet af en professionel cykelforretning.

/A\ ADVARSEL

¢ Montering: Brugen af letvaegtsmaterialer med meget sneever tolerance, skal
monteres af en professionel. GIANT CONTACT SL Aero Klem-pa szettet bor
monteres af en professionel cykelmekaniker, der har de rette veerktgjer.

o Tilsigtet brug: GIANT CONTACT SL Aero Klem-pa szettet er beregnet til
normal kersel pa asfalterede veje.

/A\ ADVARSEL

drejningsmomentvaerdier ikke overholdes, kan det fore til uventede beveegelser,
eller beskadigelse af dele. Hvis det maksimale drejningsmoment overskrides,
kan forleengerhandtaget eller styret ga i stykker, hvilket kan ugyldiggere
garantien og/eller for til alvorlig personskade eller dadsfald.

/A FORSIGTIG

Det er vigtigt at efterse disse komponenter for eventuelle tegn pa slid eller revner
for hver tur, og udskift alle dele, der viser tegn pa slid.

Q

2. KOMPATIBILITET

GIANT CONTACT SL Aero Klem-péa saettet er beregnet til felgende styr:
o GIANT CONTACT SLR Aero integreret styr
e GIANT CONTACT SLR Aero styr

ADVARSEL

Du MA IKKE montere GIANT CONTACT SL Aero Klem-pé systemet pa noget
andet styr, end dem der er naevnt ovenfor. CONTACT SL Aero Klem-pa systemet
er fremstillet, s de passer preecist til tvaersnittet pa ovennaevnte styr, og de
passer ikke til nogen andre styr. Anden anvendelse, end hvad der star beskrevet
i denne vejledning, kan fore til beskadigelse af produktet eller mulig dedsfald.

3. EKSPLODERET TEGNING OG RESERVEDELSLISTE I\

Produkt Del Antal
0) Spaendebogile til handtag 2 stk.
® Spaendebogile til styr 2 stk.
® 10mm mellemstykke til armstotte 6 stk.
® Steerisk skive 2 stk.
® Holder til handtag 2 stk.
® M6 x 26mm bolt 2 stk.
@ Kilebolt 2 stk.
Héandtag 2 stk.
® Armstotte 2 stk.
M5 x 12mm bolt 4 stk.
@ Skive med to huller 2 stk.
® Armstotte 2 stk.
® Greb til héndtag 2 stk.
Prop til handtag 4 stk.

Bolte til samling af (1) Spaendebgjlen til handtaget med (2
Spaendebgijlen til styret.

M6 x 20mm bolt 2 stk.
M6 x 30mm  bolt 2 stk.
M6 x 40mm bolt 2 stk.
M6 x 50mm bolt 2 stk.
M6 x 60mm bolt 2 stk.
M6 x 70mm bolt 2 stk.

bolt-leengde med @ 10mm mellemstykke til armstotte:

Antal @) 10mm ® Bolt-laengde Bolt-leengde
mellemstykker til
armstotten, der skal bruges
0 20mm 40mm
1 30mm 50mm
2 40mm 60mm
3 50mm 70mm
4. MONTERING

Trin 1. Saml ® Spaendebgijlen til handtaget med (® Spaendebogilen til styret. B

1.1 Saml forst @og boltene lgst, sa spaendeplaceringen stabiliseres.
Stram derefter bolten () til 6 N-m, og fijern derefter bolten ®.
Eksempel: Samling af spaendebgijlen vist med to @10mm mellemstykker
til armstotten.

Trin 2. Saml (2) Spaendebgijlen til styret pa styret. D]
2.1 Putden (@) Sfzerisk skive med den sfzeriske side udad, over bolten ®).

2.2 Stram @ Spzendebgijlen til styret inden for det indikerede omrade
til 4,5 N-m.

/\ ADVARSEL

o @ Spaendebaijlen til styret skal spaendes fast inden for det angivne
omrade. Hvis dette ikke geres, kan udstyret ga i stykker, hvilket kan
fore til personskade eller dedsfald

e Krumningen pa ® Speaendebgijlen til styret skal vende udad, sa kablet
kan fores lige. [3

Trin 3. Saml (1) Spaendebgijlen til handtaget pa (5) Holderen til handtaget. (GIH|

3.1 Szet (6) M6 x 26mm bolten gennem (8) Holderen til handtaget, og saml
den lost med en (@) Kilebolt.
Du kan veelge mellem to speendesteder, et smalt og et bredt greb, efter
eget onske.

[€)Smalt greb: (@) Armstetterne kan justeres til et teettere greb.
I}]Bredere greb: @ Armstotterne kan justeres til et bredere greb.

3.2 Saml ® Holderen til handtaget med @ Spaendebailen til handtaget, og
seet derefter samlingen pa (8) Handtaget. Spaend (8) Handtaget pa plads
til 5 N-m med en () M6 x 26mm.

AFORSIGTIG| [}

Hvis det maksimale anbefalede drejningsmoment overskrides, kan det
beskadige strukturen af handtaget, iseer hvis det er kulstofmateriale, hvilket
kan fare til alvorlige skader.

Trin 4. Saml (9) Armstetten pa (&) Holderen til handtaget.

4.1 Veelg to tilstedende huller p& (@) Armstetten, og brug derefter to
M5x12mm bolte og (1) To skiver til, at speende samlingen pa plads til 5 N-m

A FORSIGTIG

Du skal bruge to M5 x 12mm bolte til, at fastspaende @ Armstatten for,
at give tilstraekkelig stotte og stabilitet.

4.2 Seet (@ Armstotten (3 Grebet til handtaget og (@) Propperne pa.

5. BEGRZAENSET GARANTI FRA GIANT

GIANT garanterer at CONTACT SL Aero Klem-pa er fri for defekter i materialer
og/eller fabrikationsfejl i en periode pa to (2) ar fra kebsdatoen, og kun for den
oprindelige ejer.

KRAV TIL SAMLING VED K@B

Denne garanti geelder kun for dette produkt, nar det kebes nyt fra en autoriseret
GIANT-forhandler, og samlet af denne forhandler pa kebstidspunktet.

Begrzenset reparation:

Medmindre andet er fastsat, er den eneste reparation under ovenstaende garanti
eller enhver implicit garanti, begraenset til udskiftning af defekte produkter med
samme eller storre veerdi efter Giant's eget skon. Denne garanti geelder fra
kabsdatoen, kun for den oprindelige kaber og kan ikke overfares til tredje
person.

Ovennzevnte garanti, eller enhver implicit garanti deekker ikke:

o Normalt slid pa dele i de tilfeelde, hvor der ikke er samlings- eller materialefejl.

» Produktet er ikke blevet samlet eller repareret af en GIANT-autoriseret forhandler.

¢ Ved aendringer af den oprindelige tilstand.

¢ Brug af produktet til unormale, konkurrencemaessige og/eller kommercielle
aktiviteter eller til andre formal end de, for hvilket produktet blev udviklet.

« Afskalling af maling og skader opstaet som resultat af deltagelse i konkurrencer,
spring, kersel ned ad bakke og/eller treening for sadanne aktiviteter eller
begivenheder, eller som resultat af udsaettelse af produktet til, eller anvendelse af
produktet under harde betingelser eller klimaforhold.

o Udgifter til erstatning eller reparation af dele.

Undtagen, hvad der star i denne garanti og hvad der er underlagt alle yderligere
garantier, kan GIANT og dets ansatte og agenter pa ingen made holdes
ansvarlig for eventuelle tab eller skader (herunder tilfeldige og deraf falgende
tab eller skade, som er forarsaget af uagtsomhed eller misligholdelse), der opstar
fra brug af eller vedrorende et GIANT-produkt.

GIANT giver ingen anden garanti, hverken udtrykt eller implicit. Alle implicite
garantier, herunder garantier for salgbarhed og egnethed til et bestemt formal, er
begreenset i deres varighed til de af de udtrykte garantier, som nzaevnt ovenfor.
Ethvert garantikrav skal indsendes igennem en GIANT-autoriseret forhandler
eller distributor. Kvitteringen eller andet bevis for kabsdatoen skal fremvises, for
et garantikrav kan behandles.

Garantikrav indsendt fra et andet land, end hvor produktet er kabt, kan blive
palagt ekstra gebyrer og yderligere begreensninger.

Garantiens varighed og detaljer kan variere fra land til land. Denne garanti giver
dig specifikke juridiske rettigheder, og du har muligvis ogsa andre rettigheder,
hvilket kan variere afheengig af landet.

DENNE GARANTI PAVIRKER IKKE DINE LOVMAESSIGE RETTIGHEDER.

INHALT

1.Einleitung und Sicherheitshinweise
2.Kompatibilitat
3.Explosionszeichnung und Teileliste
4.Montage

5.Eingeschrankte GIANT-Garantie

1. EINLEITUNG UND SICHERHEITSHINWEISE

Vielen Dank fir den Kauf dieser Giant-Hochleistungskomponente! Wir méchten,
dass Sie Ihre Touren voll und ganz genieBen kénnen — diese Broschiire soll Sie
schnell mit lnrem neuen GIAN CONTACT SL Aero Clip-on-System vertraut
machen. Damit Sie sémtliche Vorteile des Produktes ausschopfen kdnnen, lesen
Sie die folgenden Installations- und Wartungsanleitungen bitte gut durch.

Wie bei samtlichen Verbund- und Aluminium-Hochleistungskomponenten ist eine
sachkundige Untersuchung auf gebrochene Fasern und
Oberflachenbeschadigungen sehr wichtig. Dies gilt insbesondere, wenn es zu
Stiirzen oder anderen Unféllen kommen sollte.

AWARNUNG

Nutzen Sie Ihr Rad nicht, falls Sie Spriinge oder Oberflachenfehler der
Komponente bemerken oder sich Teile ungewéhnlich bewegen oder biegen. Dies
sind Anzeichen von Materialermiidung, die auf einen baldigen Ausfall hindeuten
kénnen. Lassen Sie die entsprechende Komponente durch ein
Radsportfachgeschéft tiberpriifen und austauschen.

AACHTUNG

¢ Montage: Federleichte Materialien mit sehr geringen Toleranzen erfordern
eine professionelle Montage. Das GIANT CONTACT SL Aero Clip-on-Set
sollte von einem professionellen Fahrradmechaniker unter Einsatz der
richtigen Werkzeuge installiert werden.

* Vorgesehener Einsatz: Das GIANT CONTACT SL Aero Clip-on-Set wurde
zum Einsatz auf gepflasterten StraBen unter normalen Radsportbedingungen
geschaffen.

[AwaRNUNG]

Bei Nichteinhaltung der angegebenen Drehmomentwerte kann es zu
unvorhersehbaren Bewegungen sowie zu Beschadigungen der Komponenten
kommen. Bei Uberschreiten des empfohlenen maximalen Drehmomentes kann
es zu Beschadigungen der Anbauschiene oder des Lenkers kommen; dadurch
kann die Garantie erléschen, schwerwiegende bis tédliche Unfalle sind mdglich.

AACHTUNG

Die Komponenten missen vor jedem Fahrtantritt unbedingt auf jegliche
Anzeichen von Verschlei3 und Briichen untersucht, beim Auftreten solcher
VerschleiBerscheinungen ausgetauscht werden.

2. KOMPATIBILITAT

Das GIANT CONTACT SL Aero Clip-on-Set eignet sich fiir folgende Lenker:
e GIANT CONTACT SLR Aero Integrated-Lenker
e GIANT CONTACT SLR Aero-Lenker

[ AWARNUNG]

Installieren Sie das GIANT CONTACT SL Aero Clip-on-System NICHT an
Lenker , die nicht oben aufgefiihrt werden. Das CONTACT SL Aero Clip-on
-System wurde speziell fiir den Aero-Querschnitt der obigen Lenker entwickelt,
lasst sich an anderen Lenkern nicht korrekt anbringen. Bei Nichteinhaltung
dieser Vorgaben kann es zu Produktausféllen sowie zu schweren bis tédlichen
Verletzungen kommen.

3. EXPLOSIONSZEICHNUNG UND TEILELISTE [y

Element Teile Anzahl
@ Anbauklemme 2 Stiick
® Lenkstangenklemme 2 Sets
® 10-mm-Armauflagendistanzstiick 6 Stilick
@ Kugelscheibe 2 Stiick
® Anbaustangenhalter 2 Stiick
® M6 x 26-mm-Bolzen 2 Stiick
@) Keilmutter 2 Stiick
Anbaustange 2 Stiick
©® Armpolsterhalter 2 Stiick
M5 x 12-mm-Bolzen 4 Stiick
(@) Zweiloch-Unterlegscheibe 2 Stiick
® Armpolster 2 Stiick
® Anbaustangengriff 2 Stiick
Anbaustangenstopfen 4 Stlck

Bolzen zur Verbindung von (1) Anbauklemme mit (2) enkstangenklemme.
M6 x 20-mm-Bolzen 2 Stiick
M6 x 30-mm-Bolzen 2 Stick
M6 x 40-mm-Bolzen 2 Stiick
M6 x 50-mm-Bolzen 2 Stilick
M6 x 60-mm-Bolzen 2 Stilick
M6 x 70-mm-Bolzen 2 Stiick
Bolzenlange mit (3) 10-mm-Armpolsterdistanzstiick:
Anzahl verwendeter (3 (® Bolzenlange Bolzenlange
10-mm-
Armpolsterdistanzstlicke

0 20mm 40mm

1 30mm 50mm

2 40mm 60mm

3 50mm 70mm

4. MONTAGE

Schritt 1. @ Anbauklemme mit Lenkstangenklemme verbinden. B

1.1 Setzen Sie die Bolzen ® und ® zunachst lose zum Stabilisieren der
Montageposition ein. Ziehen Sie anschlieBend den (&) Bolzen mit 6 N-m
fest, entfernen Sie dann den Bolzen.

Beispiel: Klemme mit zwei @ 10-mm-Armpolsterdistanzstiicken.

Schritt 2. (2) Lenkstangenklemme an der Lenkstange anbringen. D]
2.1 Setzen Sie die @ Kugelscheibe mit der gewdlbten Seite nach auf3en auf den

Bolzen (B auf.

2.2 Ziehen Sie die@ Lenkstangenklemme im gekennzeichneten
Lenkstangenklemmbereich mit 4,5 N-m an.

[AWARNUNG|

e Die @Lenkstangenklemme muss im gekennzeichneten Bereich fixiert
werden. Bei Nichtbeachtung kann es zu Produktausfallen, somit zu
schweren bis tédlichen Verletzungen kommen.

* Die Kriimmung der (2) Lenkerklemme sollte nach auBen zeigen, damit
das Kabel richtig verlegt werden kann. [

Schritt 3. (1) Anbauklemme am (§) Anbaustangenhalter anbringen. (GIH|

3.1 Fiihren Sie den (6) M6 x 26-mm-Bolzen durch den (5) Anbaustangenhalter,
anschlieBend lose mit einer (7) Keilmutter fixieren.Es gibt zwei
Montagepositionen, schmal und breit. Wahlen Sie die Position, die lhrer
Haltung beim Fahren entspricht.

@Schmalposition: Die Position des @ Armpolsterhalters kann auf eine
nahere Armposition eingestellt werden.

[{IBreitposition: Die Position des @Armpolsterhalters kann auf eine
breitere Armposition eingestellt werden.

3.2 Verbinden Sie den @ Anbaustangenhalter mit der @ Anbauklemme,
setzen Sie dann die Anbaustange ein. Fixieren Sie die
Anbaustange mit einem @MG X 26-mm-Bolzen, ziehen Sie den Bolzen
mit 5 N-m an.

ACHTUNG| I}

Bei Uberschreiten des empfohlenen maximalen Drehmomentes kann die
Anbaustange, insbesondere das Carbonmaterial, beschadigt werden;
schwere Verletzungen kénnen die Folge sein.

Schritt 4. (9 Armpolsterhalter am (5) Anbaustangenhalter anbringen.

4.1 Wahlen Sie zwei benachbarte Lécher im @ Armpolsterhalter,
anschlieBend mit zwei (10) M5 x 12-mm-Bolzen und Zweiloch-Unterlegscheibe
fixieren. @ Ziehen Sie den Bolzen mit 5 N-‘m an.

AACHTUNG

(® Armpolsterhalter muss mit zwei @@ M5 x 12-mm-Bolzen fixiert werden,
um ausreichende Unterstlitzung und Stabilitat zu gewahrleisten.

4.2 Installieren Sie @ Armpolster, Anbaustangengriff und
Anbaustangenstopfen.

5. EINGESCHRANKTE GIANT-GARANTIE

GIANT gewéhrleistet liber einen Zeitraum von zwei Jahren ab Erstkaufdatum, dass das
CONTACT SL Aero Clip-on keinerlei Material- und Herstellungsfehler aufweist.

MONTAGE BEIM KAUF ERFORDERLICH
Diese Garantie gilt nur, wenn dieses Produkt von einem autorisierten GIANT-Handler
neu erworben und zum Zeitpunkt des Kaufes von diesem Handler montiert wird.

Eingeschrénkte Anspriiche:

Sofern nicht anders vereinbart, beschrénken sich samtliche Anspriiche im Rahmen der
oben erwéhnten oder jegliche impliziten Garantien auf den Austausch defekter
Produkte gegen solche mindestens gleichwertigen Wertes nach alleinigem Ermessen
GIANTs. Die Garantie beginnt mit dem Kaufdatum, gilt nur fiir den Erstké&ufer und ist
nicht Ubertragbar.

Die obige oder jegliche sonstige implizite Garantie deckt Folgendes NICHT ab:
o Normaler VerschleiB, der nicht auf Material- oder Herstellungsfehler zurlickzufiihren ist.
* Produkt wurde nicht durch einen autorisierten GIANT-Handler montiert, repariert.

e Veranderungen des Originalzustands.

e Einsatz des Produktes flir anormale, Wettbewerbs- und/oder kommerzielle Aktivitaten
oder flir Zwecke, die dem bestimmungsgemaBen Verwendungszweck des Produktes
entgegenstehen.

* Beschadigungen von Lackierung oder Dekorelementen, die durch Teilnahme an
Wettbewerben, durch Spriinge, Abfahrten und/oder Trainieren solcher Aktivitaten
entstehen oder durch widrige Wetter- oder Klimabedingungen verursacht werden.

® Arbeitskosten fiir Austausch von Teilen oder Umristungen.

Mit Ausnahme des im durch diese Garantie oder zusétzliche Garantien vorgegebenen
Rahmen haften GIANT, ihre Mitarbeiter und Agenten nicht fir jegliche Verluste oder
Schaden jeglicher Art (einschlieBlich durch Nachlassigkeit oder Fahrldssigkeit verursachte
beildufige und Folgeschaden), die durch GIANT-Produkte oder in Verbindung mit solchen
entstehen.

GIANT ibernimmt keine anderen Gewaéhrleistungen, weder ausdriicklich noch
stillschweigend. Die gesamte gesetzliche Gewéhrleistung, einschlieBlich Gewahrleistung
der Marktgéangigkeit und Tauglichkeit fiir einen bestimmten Zweck, beschrankt sich auf die
Dauer der oben aufgefiihrten, ausdricklichen Zusicherungen.Jeglicher
Gewahrleistungsanspruch muss lber einen autorisierten GIANT-Handler oder
Vertriebshandler eingefordert werden. Ein Kaufbeleg oder anderer Beleg, aus dem das
Kaufdatum ersichtlich ist, muss vorgelegt werden, bevor Garantieleistungen in Anspruch
genommen werden kénnen.

Bei der Wahrnehmung von Leistungen auBerhalb des Landes, in dem das Produkt
erworben wurde, kénnen Geblihren oder zusétzliche Einschrankungen
entstehen.Garantiezeiten und -einzelheiten kénnen von Land zu Land variieren. Diese
Garantie verleiht Innen spezifische gesetzliche Rechte; eventuelle weitere Rechte, die von
Ort zu Ort variieren, werden dadurch nicht berthrt.

Ihre gesetzlich zugestandenen Rechte werden durch diese Garantie nicht beriihrt.

TABLE DES MATIERES

1.Introduction et précautions
2.Compatibilité

3.Dessin éclaté et liste des pieces
4.Procédure d'installation
5.Garantie limitée GIANT

1. INTRODUCTION ET PRECAUTIONS

Merci pour l'achat de ce composant Giant haute performance. Notre but est de
vous aider a profiter de vos sorties en vélo, et ce livret est congu comme un guide
de démarrage rapide pour vous aider a vous familiariser avec votre systéme
GIANT CONTACT SL Aero Clip-on. Pour pleinement bénéficier des performances
du produit, lisez les instructions d'installation et d'entretien suivantes attentivement.
Comme pour toutes les piéces composites et en alliage haute performance, une
inspection professionnelle a la recherche de fibres abimées ou de dégats a la
surface est importante. Ceci est particulierement vrai en cas de crash ou accident.

| A AVERTISSEMENT|

Ne montez pas en vélo si vous remarquez des fissures ou imperfections sur la
surface d'une piéce, ou si la piece bouge de fagon inhabituelle. Il s'agit d'un
signe d'usure et de panne possible. Demandez a un professionnel d'inspecter et
de remplacer la piece.

[AATTENTION]

« Installation: L'utilisation de matériaux Iégers avec des tolérances treés basses
nécessite une installation professionnelle. L'ensemble GIANT CONTACT SL
Aero Clip-on doit étre installé par un mécanicien professionnel avec les bons
outils.

 Utilisation prévue: L'ensemble GIANT CONTACT SL Aero Clip-on est congu
pour un usage ordinaire sur route

A AVERTISSEMENT|

Ne pas serrer aux valeurs de couple indiquées peut causer des mouvements
inattendus ou des dégats a la piece. Dépasser la valeur de couple maximale
conseillée peut endommager la barre d'extension du guidon, ce qui peut annuler
la garantie et causer des blessures sérieuses, voire la mort.

[AATTENTION]

Il est important d'inspecter ces composants pour toute indication d'usure ou de
fissure avant chaque sortie, et de remplacer toute piece présentant de tels dégats.

2. COMPATIBILITE

L'ensemble GIANT CONTACT SL Aero Clip-on est congu pour les guidons suivants :
e Guidon intégré GIANT CONTACT SLR Aero
e Guidon GIANT CONTACT SLR Aero

A AVERTISSEMENT|

N'INSTALLEZ PAS le systtme GIANT CONTACT SL Aero Clip-on avec des
guidons autres que ceux indiqués ci-dessus. Le systeme CONTACT SL Aero
Clip-on a été spécifiquement congu pour correspondre a la section transversale
des guidons ci-dessus, et n'est pas adapté aux autres guidons. Un non-respect
de cette instruction peut causer des pannes et des blessures, voire la mort.

3. DESSIN ECLATE ET LISTE DES PIECES

Elément Piéces Quantité
0) Tige d'extension 2
® Tige de guidon 2
® Entretoise de repose-bras 6
@ Rondelle sphérique 2
@ Support de barre d'extension 2
® Boulon M6 x 26 mm 2
@ Ecrou de serrage 2
Barre d'extension 2
@ Support de repose-bras 2
Boulon M5x12 mm 4
@ Rondelle & deux trous 2
® Repose-bras 2
® Prise de barre d'extension 2
Bouchon de barre d'extension 4

Boulons pour I'assemblage de la (1) Tige d'extension avec la (2) Tige du
guidon.
Boulon M6 x 20 mm 2
Boulon M6 x 30 mm 2
Boulon M6 x 40 mm 2
Boulon M6 x 50 mm 2
Boulon M6 x 60 mm 2
Boulon M6 x 70 mm 2
Application de longueur de boulon avec @ Espaceur de repose-bras
de 10 mm :
Quantité utilisée pour ® Longueur de Longueur de
(® Entretoise de boulon boulon
repose-bras de 10 mm

0 20mm 40mm

1 30mm 50mm

2 40mm 60mm

3 50mm 70mm

4. INSTALLATION
Etape 1. Assemblez la ® Tige d'extension avec la ®) Tige de guidon. [Z]

1.1 D'abord, assemblez légerement les boulons @ et pour stabiliser la
position de fixation. Ensuite, serrez le boulon @ a 6 N-m, puis retirez le

boulon.

Exemple: Assemblage de tige avec deux @ Entretoise de repose-bras de
10 mm.
Etape 2. Assemblez la () Tige de guidon sur le guidon. [2]
2.1 Placezla @ Rondelle sphérique, coté sphérique vers l'extérieur, sur le boulon.

2.2 Serrez la (2) Tige de guidon dans la zone de tige de guidon indiquée a
4,5 N'm.

[A AVERTISSEMENT ]

« la (2) Tige de guidon doit étre fixée dans la zone indiquée. Ne pas le
faire pourrait causer une panne du produit et des blessures corporelles,
voire la mort.

e La courbure de la @ Tige du guidon doit étre tournée vers l'extérieur
pour permettre aux cables de passer. [

Etape 3. Assemblez la @Tige d'extension sur le @ Support de barre
d'extension.
3.1 Passez le (8) Boulon M6x26 mm & travers le (8) Support de barre
d'extension et assemblez légérement avec un a (7) Ecrou de fixation.
Il existe deux positions assemblées, étroite et large, en fonction votre
position préférée a vélo.
[€]Position étroite: (9) Position du repose-bras peut étre ajustée pour
étre plus proche.
[:]Position large: La @ Position du repose-bras peut étre ajustée pour
étre plus éloignée.
3.2 Assemblez le @ Support de barre d'extension avec la @Tige d'extension,
puis insérez la (8) Barre d'extension. Serrez la (8) Barre d'extension & 5 N-m
avec un boulon (g)M6x26 mm.

ATTENTION | IR

Dépasser la valeur de couple maximale recommandée peut endommager la
structure de la barre d'extension, en particulier le matériau en carbone, et
peut causer des blessures sérieuses.

Etape 4. Assemblez le @ Support de repose-bras sur le @ Support de
barre d'extension.

4.1 Choisissez deux trous adjacents sur le @ Support de repose-bras, puis
utilisez deux Boulons M5x12 mm et @ Une rondelle a deux trous pour le
fixer a 5 N-m.

[AATTENTION]

Utilisez deux boulons M5x12 mm pour fixer le @ Support de
repose-bras et avoir assez de soutien et de stabilité.

4.2 Installez le @ Repose-bras, la @ Prise de barre d'extension et le
Bouchon de barre d'extension.

5. GARANTIE LIMITEE GIANT

GIANT garantit que le CONTACT SL Aero Clip-on ne souffre d'aucun défaut de matériel
ou de main-d'ceuvre pendant une période de deux (2) ans a compter de la date d'achat
pour le propriétaire d'origine uniquement.

ASSEMBLAGE REQUIS LORS DE L'ACHAT
Cette garantie s'applique uniquement a ce produit, lorsqu'il est acheté neuf aupres d'un
revendeur GIANT autorisé et assemblé par ce revendeur au moment de I'achat.

Recours limité :

Sauf mention contraire, le seul recours sous la garantie ci-dessus, ou toute garantie
implicite, est limité au remplacement des produits défectueux par d'autres de valeur
équivalente ou supérieure, a la seule discrétion de GIANT. Cette garantie prend effet a
la date d'achat, s'applique uniquement a I'acheteur d'origine et n'est pas transférable.

La garantie ci-dessus, ou toute garantie implicite, ne couvre PAS les cas
suivants :

e Usure normale ou dégats s'il n'y a aucun défaut d'assemblage ou de matériel.

e Le produit n'est pas assemblé ou réparé par un revendeur autorisé GIANT.

o Des modifications ont été apportées au produit.

o Utilisation du produit pour des activités anormales, compétitives ou commerciales a des
fins autres que celles pour lesquelles le produit a été congu.

o Les dégats a la finition de peinture et aux imprimés suite a la participation a des
compétitions, sauts, descentes ou entrainements pour de tels événements ou activités,
ou découlant de I'exposition du produit ou de son utilisation dans des conditions
difficiles.

e Frais de main-d'ceuvre pour le remplacement des pieces ou I'échange.

En dehors des cas prévus par cette garantie, et sous réserve de toutes les garanties
supplémentaires, GIANT et ses employés et agents ne sauraient étre responsables de
pertes ou dommages quels qu'ils soient (y compris pertes ou dommages accidentels et
consécutifs causés par la négligence ou la faute) découlant de ou concernant tout
produit GIANT.

GIANT ne formule aucune autre garantie, expresse ou implicite. Toutes les garanties
implicites, y compris les garanties de valeur marchande et d'adéquation a une fin
particuliere, sont limitées a la durée des garanties expresses indiquées ci-dessus.
Toute réclamation contre cette garantie doit étre formulée auprés d'un revendeur ou
distributeur GIANT autorisé. Le ticket de caisse ou autre preuve de date d'achat est
requis avant de pouvoir traiter une réclamation de garantie.

Les réclamations hors du pays d'achat peuvent étre sujettes a des frais et restrictions
supplémentaires.

La durée et les détails de la garantie peuvent varier selon le pays. Cette garantie vous
donne des droits |égaux spécifiques, et vous pouvez aussi avoir d'autres droits,
variables selon le lieu.

CETTE GARANTIE N'AFFECTE PAS VOS DROITS STATUTAIRES.



